PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR BOARD WORKSHOP/ACTION MEETING

Tuesday, May 17, 2016 6:00 P.M. AGENDA

- 1. Call to Order
- 2. Reading of the Open Public Meetings Act Notice

Statement-Board President

"This is to advise those present at this May 17, 2016 Regular Board Workshop/Action Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on December 21, 2015 of the 2016 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call – Board Secretary, Mr. Elisha Thompkins:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Tony Davenport				
Silvia Landron				
Paul Moore				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

- 4. Flag Salute and Moment of Silence
- Voices of the Children- Decatur Avenue School
- 6. Public Comments. Please limit comments to (5) minutes and all comments should be courteous and respectful.
- 7. Review of Board Minutes Mr. Elisha Thompkins: None

Board Approval of Workshop/Action Agenda Items:

- 8. Finance & Facilities
- 9. Human Resources
- 10. Curriculum & Instruction

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria REGULAR BOARD WORKSHOP MEETING

Tuesday, May 17, 2016 6:00 P.M. Finance AGENDA

- 1. Approval of the Bill List for May 17, 2016 Warrant Account in the amount \$ 3,045,819.80. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of April 8, 2016 Payroll and Board Share of FICA/Medicare in the amount of \$ 2,206,252.34. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of April 22, 2016 Payroll and Board Share of FICA/Medicare in the amount of \$ 2,425,714.90. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of the Transfers for Fund 11 account ending March 31, 2016 in the amount of \$ 667,140.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

5. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of March 31, 2016 no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- 6. Acceptance of the Treasurer and Secretary Reports for the month ending March 31, 2016. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending March 31, 2016.
- Approval to submit, to New Jersey Department of Education, the Pleasantville School District <u>revised</u> initial placement of the District's New Jersey (QSAC) Quality Single Accountability Continuum (DIP) District Improvement Plan of 2013-2014 [2015-2016 Revised]. This originally was Board approved for submission to the Department of Education on August 2014.
- 8. Whereas, the Pleasantville Board of Education advertised for Bid# PPS 15-25 High School & Middle School Track Resurfacing for the 2015-2016 school year in the Press of Atlantic City on June 25, 2015; and

Whereas, the Pleasantville Board of Education received Bids from American Athletic Courts, Inc. and ATT Sports, Inc. and conducted the opening on July 9, 2015; so

Whereas, the Pleasantville Board of Education rejected all Bids under N.J.S.A. 18:18A-22(b); so

Therefore, Be It *Resolved* that the Pleasantville Board of Education will re-advertise for Bid# PPS 15-25(a) High School & Middle School Track Resurfacing for the 2015-2016 school year.

Whereas, the Pleasantville Board of Education re- advertised for Bid# PPS 15-25(a) High School & Middle School Track Resurfacing for the 2016-2017 school year in the Press of Atlantic City on April 29, 2016; and

Whereas, the Pleasantville Board of Education received Bid# PPS 15-25(a) from American Athletic Courts, Inc. and ATT Sports, Inc. For the Opening on May 12, 2016 was conducted as advertised; so

Bidder	Base Bid	Alternate 1	Alternate 2
ATT Sport Inc.	\$616,643.25	\$559,605.75	\$493,549.50
American Athletic Courts Inc.	\$ 698,500.00	\$609,150.00	\$604,250.00

Therefore, Be It *Resolved* that the Pleasantville Board of Education approved Bid# PPS 15-25(a) to ATT Sports, Inc. for the 2015-2016 fiscal year Base Bid will be awarded in the amount of \$616,643.25.

9. **Whereas**, the Pleasantville Board of Education advertised in the Press of Atlantic City the RFP 16-11 District Auditor for the 2016-2017 fiscal year on April 20, 2016 and;

Whereas, the Pleasantville Board of Education, received proposals from Ford Scott & Associates, Holman, Frenia & Allison PC, and conducted the Opening on May 5, 2016 as advertised; so

Therefore Be It *Resolved*, that the Pleasantville Board of Education appoints Ford Scott & Associates as the 2016-2017 District Auditors to commence on July 01, 2016 through June 30, 2017 for an amount not to exceed \$61,000.00 utilizing account# 11-000-230-332-0000-351.

10. **Whereas**, the Pleasantville Board of Education advertised RFP 15-38 Labor Negotiations Services in the Press of Atlantic City for; the 2016-2017 fiscal year on March 2, 2016 and

Whereas, the Pleasantville Board of Education received RFP 15-38 from Carroll Law Firm, Parker McCay, Law Firm of Eric M. Bernstein & Associates, L.L.C., Decotiis, Fiztpatrick & Cole, LLP, and Long Marmero & Associates; and conducted its Opening on April 21, 2016 as advertised; so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education award RFP 15-38 to Parker McCay as the District Labor Negotiations Services for the 2016-2017 fiscal year on July 01, 2016 through June 30, 2017. Utilizing account# 11-000-230-334-0000-351.

11. **Whereas**, the Pleasantville Board of Education advertised RFP 16-08 in the Press of Atlantic City for District Engineer; for the 2016-2017 fiscal year on March 17, 2016 and

Whereas, the Pleasantville Board of Education received RFP 16-08 from Remington, Vernick & Walberg Engineers and CME Associates; and conducted its Opening on A, 2016 as advertised; so

Therefore, Be It *Resolved* that the Pleasantville Board of Education award RFP 16-08 to Remington, Vernick & Walberg Engineers as District Engineer for the 2016-2017 fiscal year July 01, 2016 through June 30, 2017. Amount not to exceed \$50,000.00. Utilizing account# 11-000-230-334-0000-351.

12. **Whereas**, the Pleasantville Board of Education advertised RFP 16-07 in the Press of Atlantic City for District Architect; for the 2016-2017 fiscal year on March 17, 2016 and

Whereas, the Pleasantville Board of Education received RFP 16-07 from Garrison Architects and Wayne A. Neville, A.I.A., and conducted its Bid Opening on April 12,2016 as advertised; so

Therefore, Be It *Resolved* that the Pleasantville Board of Education award RFP 16-07 to Garrison Architect as District Architect for the 2016-2017 fiscal year July 01, 2016 through June 30, 2017. Amount not to exceed \$50,000.00. Utilizling account# 11-000-230-334-0000-351.

13. **Whereas**, the Pleasantville Board of Education advertised PPS 16-13 Air Quality & Asbestos Compliance Services for the 2016-2017 fiscal year in the Press of Atlantic City on April 23, 2016; and

Whereas, the Pleasantville Board of Education received Bids for Air Quality & Asbestos Compliance Services PPS 16-13 for the 2016-2017 fiscal year from AHERA Consulting and Coastal Environmental Consultants, and the Opening was conducted as advertised on May 10, 2016; so

Therefore, Be It *Resolved* that the Pleasantville Board of Education awarded PPS 16-13 Air Quality & Asbestos Compliance Services for 2016-2017 fiscal year,to Coastal Environmental Consultants; commencing July 1, 2016 through June 30,2017 for an amount not to exceed \$45,000.00; utilizing account# 11-000-262-300-0000-232.

14. **Whereas**, the Pleasantville Board of Education advertised PPS 16-14 Environmemental Compliance Services for the 2016-2017 fiscal year in the Press of Atlantic City on April 23, 2016; and

Whereas, the Pleasantville Board of Education received Bids for Environmemental Compliance Services PPS 16-14 for the 2016-2017 fiscal year from Coastal Environmental Compliance, LLC and the Opening was conducted as advertised on May 10, 2016; so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education approves the PPS 16-14 Environmemental Compliance Services for 2016-2017 fiscal year, to Coastal Environmental Compliance, LLC; commencing July 1, 2016 through June 30,2017 for an amount not to exceed \$25,000.00; utilizing account# 11-000-262-300-0000-232.

15. **Whereas,** the Pleasantville Board of Education advertised PPS 16-12 Mold Remediation for the 2016-2017 fiscal year in the Press of Atlantic City on April 23, 2016; and

Whereas, the Pleasantville Board of Education received Bids for PPS 16-12 Mold Remediation for the 2016-2017 fiscal year from All Risk, MAS Labs, ServPro, Plymouth Environmental, and Lew Corp and the Opening was conducted as advertised on May 10, 2016; so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education approves the PPS 16-12 Mold Remediation for 2016-2017 fiscal year,to ServPro; commencing July 1, 2016 through June 30,2017 utilizing account# 11-000-262-300-0000-232.

16. **Whereas,** the Pleasantville Board of Education advertised for RFP 16-09 School Physician for the 2016-2017 school year in the Press of Atlantic City on March 17, 2016; and

Whereas, the Pleasantville Board of Education received no Bids for the April 12, 2016 Bid Opening; so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education will re-advertise for RFP16-09 (a) School Physician for the 2016-2017 school year.

Whereas, the Pleasantville Board of Education re- advertised for RFP 16-09(a) School Physician for the 2016-2017 school year in the Press of Atlantic City on April 23, 2016; and

Whereas, the Pleasantville Board of Education received RFP 16-09(a) from Reliance Medical Group and Island Medical for the Opening on May 10, 2016 was conducted as advertised; so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education award RFP 16-09(a) to Reliance Medical Group as School Physician for the 2016-2017 fiscal year July 1, 2016 through June 30, 2017. Amount not to exceed \$50,000.00. Utilizing account #11-000-291-0000-351.

17. **Whereas**, the Pleasantville Board of Education advertised for Substitute Teacher Staffing Service PPS 15-37 in the Press of Atlantic City on November 23, 2015 and

Whereas, the Pleasantville Board of Education received Bids from Sources 4Teachers, in the amount of \$126.25 per assigned Substitute and a Bid from Insight Workforce Solutions in the amount of 128.15 per assigned substitute for the Bid Opening on December 16, 2015 so

Therefore, **Be It** *Resolved*, that the Pleasantville Board of Education approves Sources 4 Teachers LLC for the 2016-2017 school year in the amount not exceed \$126.25 per assigned Substitute utilizing account 11-110-100-320-0000-236, 11-120-100-320-0000-236, and 11-140-100-320-0000-236.

18. **Whereas**, the Pleasantville Board of Education advertised for Bid# PPS15-37 Security Uniform for the 2015-2016 school year in the Press of Atlantic City on September 14,2015; and

Whereas, the Pleasantville Board of Education received Bid from Action Uniform Co., LLC; for the September 29, 2015 Opening; and

Whereas, the Pleasantville Board of Education rejected the bid under N.J.S.A. 18A; 18A-2 (y); so

Therefore, **Be It** *Resolved* that the Pleasantville Board of Education will re-advertise for Bid# PPS 15-37(a) Security Uniform for the 2015-2016 school year.

Whereas, the Pleasantville Board of Education, re-advertised in the Press of Atlantic City on April 8, 2016 to receive the following Security Uniform Bid# PPS 15-37(a) for the 2015-2016 school year for the Opening on April 27,2016. Proposal was received and is as follows.

Item	Description	Action Uniform	4M Fashion
		Unit Price	Unit Price
А	Red Cap, Black pant, PT2CKH, 7.5 oz. Twill 65/35 polyester/cotton blend, Cell pocket, up to 42 waist or Equivalent:	\$40.00	\$27.99
В	Red Cap, Black pant, PT2CKH, 7.5 oz. Twill 65/35 polyester/cotton blend , Cell pocket, 44 over waist or Equivalent:	\$40.00	\$31.99
С	Liberty Brand ,Black Button Down Long Sleeve Five Crease Epaulet Security Shirt: 65% Polyester / 35% Cotton, With name on left hand of chest 2" letters, with Security centered back, S-XL or Equivalent:	\$45.00	\$29.99
D	Liberty Brand ,Black Button Down Long Sleeve Five Crease Epaulet Security Shirt: 65% Polyester / 35% Cotton, With name on left hand of chest 2" letters, with Security centered back, 2X-4XL or Equivalent :	\$45.00	\$34.99
Е	Rothco Brand ,Black Polo Style Short Sleeve Security Shirt: ,100% Cotton, With name on left hand of chest 2" letters, With SECURITY centered on back, S-XL or Equivalent:	\$45.00	\$24.99
F	Rothco Brand ,Black Polo Style Short Sleeve Security Shirt,100% Cotton, With name on left hand of chest 2" letters, With SECURITY centered on back, 2XL - 4XL or Equivalent:	\$48.00	\$27.99
G	Rothco Brand ,Black Polo Style Long Sleeve Security Shirt,100% Cotton, With name on left hand of chest 2" white letters, With SECURITY centered on back 3" white letters, S-XL or Equivalent:	\$48.00	\$27.99
Н	Rothco Brand, Black Polo Style Long Sleeve Security Shirt, 100% Cotton, With name on left hand of chest 2" white letters, With SECURITY centered on back 3" white letters, 2XL-4XL or Equivalent:	\$48.00	\$30.99
I	Rothco Brand ,Black Security Jacket with Zipper & Button Front, Nylon/Polar Fleece2 Zipper Pockets (1 left / 1 right) not at chest ,With	\$115.00	\$79.99

	SECURITY centered on back 3" white letters, 3"x2 ½" Security Officer		
	Patch on left side of chest S –XL or Equivalent :		
J	Rothco Brand, Black Security Jacket with Zipper & Button Front ,Nylon/Polar Fleece2 Zipper Pockets (1 left / 1 right) not at chest ,With SECURITY centered on back 3" white letters, 3"x2 ½" Security Officer Patch on left side of chest, 2XL-4XL or Equivalent:	\$115.00	\$89.99
K	Rothco Brand, Black Baseball Brim Hat,100% Cotton ,1" Embroidered "Security "White Lettering on Front/Center, one size fits all or Equivalent:	\$14.00	\$15.00
L	Rothco Brand, Black Watch Cap,100% Acrylic ,1" Embroidered "Security "White Lettering on Front/Center, Security Officer Badge Patch ,Front/Center, one size fits all or Equivalent:	\$14.00	\$10.00
TOTAL	FOR PROPOSAL	\$ 617.00	\$431.00

Now, Therefore Be It Resolved, by the Pleasantville Board of Education that the **Security Uniform Bid** awarded to **4 M Corporation of Atlantic City d/b/a 4M Fashions** for the 2015-2016 school year. Utilizing account# for district wide 11-000-211-600-0000-xxx. (Samples Received)

19. **Approval** of the Pleasantville Board of Education RFP Special Education IEP to be awarded to <u>Centris Group IEP</u> <u>Direct</u> for the 2016-2017 fiscal year in the amount not to exceed \$20,130.00

Background

The RFP Special Education IEP was advertised in the Press of Atlantic City on March 15, 2015 and RFP's were submitted by Centris Group IEP Direct and the Public Consulting Group. Opening was conducted on April 2, 2015. Said agreement with Centris Group IEP Direct reflects additional quotes for two additional years, both with no increase.

- 20. Resolution to approve Star Pediatric Home Care Agency, Inc. to provide nursing services for a student commencing May 5, 2016 through June 30, 2016. The student will require nursing services to and from school on the bus. Services also need to be provided while the student is at school. Services will be provided at a rate of \$42.00 per hour for LPN Services and \$52.00 per hour for RN services and not exceed \$48,960.00 utilizing account #11-000-213-300-0000-400.
 - ***To continue providing student with the mandated related services the following item was approved by Dr. Fitts on April 26, 2016. The Finance items will be ratified at the May 17, 2016 Board meeting***
- 21. **Resolution to approve** Barbara G. Rush, certified Occupational Therapist to provide related services on an as needed basis for the 2015-2016 school year. Her services will be needed to provide mandated related services for one of the district's OT's that will be out for maternity leave Mrs. Rush will be paid \$80.00 per hour not exceed \$7,840.00 utilizing account #11-000-216-320-0000-400.
 - ***To continue providing student with the mandated related services the following item was approved by Dr. Fitts on April 26, 2016. The Finance items will be ratified at the May 17, 2016 Board meeting***
- 22. Whereas, YALE School East Campus, is an approved private school for students with disabilities and

Whereas, the students from the Pleasantville Public School District attending YALE School East Campus are all classified students and have an IEP which includes a free breakfast and lunch

Now Therefore Be it *Resolved* **That** In accordance with NJAC 6A:23- 18.5(a)20i,iii &iv the Pleasantville Public School Board of Education does not require YALE School East Campus to charge the Pleasantville Public School District students for a reduced and/or paid meal.

23. **Resolution to approve** the following (Homeless Student) Tuition Contract Agreement to attend school for the 2015-2016 school year at the listed "Receiving" School district with Pleasantville Board of Education as the "Sending District.

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT#
12700107/ 9389625093	Washington Township Board of Education	September 4, 2015- June 30, 2016	Educational	\$89.03 Per Diem Rate Not Exceed \$15,936.37	Homeless	5 th	11-000-100-561- 0000-400
12700102/ 1465977259	Millville Board of Education	September 4, 2015- June 30, 2016	Educational	64.03 Per Diem Rate Not to Exceed \$11,525.40	Homeless	6 th	11-000-100-562- 0000-400
13171217/ 9529976734	Buena Board of Education	January 4, 2016 June 30, 2016	Educational	68.33 Per Diem Rate Not to Exceed \$7,721.29	Homeless	2 nd	11-000-100-561- 0000-400
12874320/ 9621390659	Toms River Regional School Board of Education	September 2, 2015- February 26, 2016	Educational	68.09 Per Diem Rate Not to Exceed \$ 7,353.72	Homeless	4 th	11-000-100-561- 0000-400
12874317/ 6506271150	Toms River Regional School Board of Education	September 2, 2015- February 26, 2016	Educational	68.09 Per Diem Rate Not to Exceed \$ 7,353.72	Homeless	3 rd	11-000-100-561- 0000-400
12874312/ 9716010785	Toms River Regional School Board of Education	September 2, 2015- February 26, 2016	Educational	68.09 Per Diem Rate Not to Exceed \$ 7,353.72	Homeless	K	11-000-100-561- 0000-400
3034343/ 1020096707	Winslow Township School District	September 24,2015 June 30, 2016	Educational	87.32 Per Diem Rate Not to Exceed \$14,495.12	Homeless	6 th	11-000-100-561- 0000-400
3034363/ 1348512572	Winslow Township School District	September 24,2015 June 30, 2016	Educational	83.41 Per Diem Rate Not to Exceed \$13,846.06	Homeless	5 th	11-000-100-561- 0000-400

12951583/ 4332235971	Somers Point Board of Education	September 8, 2015- February 19,2016	Educational	70.77 Per Diem Rate Not to Exceed \$7,360.08	Homeless	2 th	11-000-100-561- 0000-400
12947088/ 4005908801	Somers Point Board of Education	September 8, 2015- February 26,2016	Educational	75.69 Per Diem Rate Not to Exceed \$8,325.90	Homeless	8 th	11-000-100-561- 0000-400

24. Resolution to approve the Pleasantville Public Schools Out of District Placement for 2015-2016 Special Education Students.

Student Id # State Id #	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT #
3022523 2879386019	Y.A.L.E. School East	April 18, 2016 - June 30, 2016	Education Tuition	\$12,412.35	New Student	7th	20-250-100-500- 0000-400
1695072 7576897537	Atlantic City High School	September 1, 2015 – June 30, 2016	Education Tuition	\$30,264.00	Continuing	12 th	11-000-100-562- 0000-400
3082363 6984075950	Atlantic City High School	September 1, 2015 – June 30, 2016	Education Tuition	\$30,264.00	Continuing	12 th	11-000-100-562- 0000-400
3082363 6984075950	Atlantic City High School	September 1, 2015 – June 30, 2016	Personal Aide	\$25,425.00	Continuing	12 th	11-000-100-562- 0000-400
11879537 6562170341	Atlantic City High School	September 1, 2015 – June 30, 2016	Education Tuition	\$30,264.00	Continuing	10 th	11-000-100-562- 0000-400
3082463 922499631	Atlantic City - Sovereign Avenue School	September 1, 2015 – June 30, 2016	Education	\$45,692.00	Continuing	7 th	11-000-100-562- 0000-400

^{25.} Approval of the May 17, 2016 Facilities Usage Report

Motion by:	Second by:	Yea:	Nay:

Roll Call:

Member	Yes	No	Abstain	Absent
James D. Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS

Board Workshop/Action Meeting Tuesday, May 17, 2016

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. New Hire:

Name	Position	Location	Effective Date	Salary	Funding Source
Jennifer Lark	Bus Driver (Part-Time)	Transportation	May 18, 2016 – June 30, 2017	\$16.44 per hour	11-000-270-160-0000-352

2. RETIREMENTS:

Name	Position	Location	Effective Date	Salary	Funding Source
Nelson Cavalier	Instructional Aide	WAS	July 1, 2016	N/A	N/A
Maria DeGirolamo- Quigley	Teacher	SMSS	July 1, 2016	N/A	N/A
Elizabeth Didonato	School Nurse	SMSS	July 1, 2016	N/A	N/A

3. SUBSTITUTE STAFF (CRIMINAL HISTORY CLEARANCE):

Name	Position	Location	Effective Date	Salary	Funding Source
Fritzoral Headley	Substitute Security	District	May 18, 2016 –	\$11.00 per hour	15-000-266-100-0000-050
	Guard		June 30, 2017		15-000-266-100-0000-055
					15-000-266-100-0000-060
					15-000-266-100-0000-080
					15-000-266-100-0000-085
					15-000-266-100-0000-095
					20-218-200-110-0000-234

4. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Dorothea Bickel	Teacher	ECH	May 25, 2016 –	N/A	N/A
			June 30, 2016		
Sheltrenia Jones	Data Entry	C.A.R.E	April 26, 2016 –	N/A	N/A
	Coordinator		June 30, 2016		
Shannon Rothman	Teacher	LAS	April 18, 2016 –	N/A	N/A
			April 17, 2017		
			(Intermittent)		

5. FMLA LEAVE WITH PAYOUT AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Jacqueline Mason	Security Guard	SMSS	May 18, 2016 –	N/A	N/A
			June 30, 2017		
			(Intermittent)		

6. SALARY ADJUSTMENTS: PURSUANT TO COLLECTIVE BARGAINING AGREEMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
Stefanie Burns	Teacher	WAS	May 18, 2016 –	\$66,522.00	15-110-100-101-0000-060
			June 30, 2017	(BA+30/Step 14)	
				to	
				\$68,249.00	
				(MA+15/ Step 14)	
				Pro-rated	
Jennifer Dunn	Teacher	ECH	May 18, 2016 –	\$53,087.00	20-218-100-101-0000-234
			June 30, 2017	(BA/ Step 2)	(2016-2017school)
				to	
				\$53,950.00	
				(BA+15/ Step 2)	
				Pro-rated	

7. ADDITIONS AND CORRECTIONS TO ADDENDUM "A" 2016-2017 STAFF RE-APPOINTMENT: (Board Approved 5-9-16)

Name	Position	Location	Effective Date	Salary	Funding Source
Bruce Jones	Teacher	MSP	July 1, 2016 –	\$74,930.00	15-130-100-101-0000-055
			June 30, 2016		
Robyn Pallitto	Teacher	PHS	July 1, 2016 –	\$82,919.00	15-140-100-101-0000-050
			June 30, 2016		
Andrea Spence	Instructional Aide	PHS	July 1, 2016 –	\$33,018.00	15-213-100-106-0000-050
			June 30, 2016		
Andrea Turner	Assistant	MSP	July 1, 2016 –	\$129,368.00	15-000-240-103-0000-055
	Principal		June 30, 2016	(Longevity	
	·			Increase 25yrs.)	

8. STUDENT INTERNSHIP/TEACHING/ FIELDWORK PLACEMENTS (PENDING CRIMINAL HISTORY CLEARANCE):

Name	Placement/ Assignment	School	Effective Date	Salary	Funding Source
Darline Desamours	Social Worker/	NMSS	September 1, 2016 –	N/A	N/A
(Stockton University)	Donna Ranger		May 30, 2017		

9. SCHOOL LEADERSHIP COMMITTEES:

Name	Position	Location	Effective Date	Salary	Funding Source
SOUTH MAIN STREET SC	HOOL		·		
Felicia Hyman-Medley	Principal	SMSS	July 1, 2016 – June 30, 2017	N/A	N/A
Lapell Chapman	Assistant Principal	SMSS	July 1, 2016 – June 30, 2017	N/A	N/A
Jillian Butterhof	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30.00 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Tatiana Cunningham	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30.00 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)

me	Position	Location	Effective Date	Salary	Funding Source
chel Bey-Burghart	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
, ,	(1st Gr.)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
				16 hrs. (\$480)	
ace Connelly	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(2nd Gr.)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
				16 hrs. (\$480)	
Hennis	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(SP ED)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
				16 hrs. (\$480)	
hael Kiefer	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(5th Gr.)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
				16 hrs. (\$480)	
ina Kurtz	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(Kindergarten)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
	,			16 hrs. (\$480)	,
rchele Scott	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(3rd Gr.)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
	,		·	16 hrs. (\$480)	,
ly Sommer	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
,	(Specials)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
			·	16 hrs. (\$480)	,
ristine Toro	Teacher	SMSS	July 1, 2016 –	\$30.00 per hr.	20-231-200-100-0000-545
	(4th Gr.)		June 30, 2017	not to exceed	(2015-2016 Title 1 SIP)
	,		,	16 hrs. (\$480)	,
vin Ragland	Pastor	SMSS	July 1, 2016 –	N/A	N/A
-			June 30, 2017		
av. Tallaant	Parent Volunteer	SMSS	I.J. 1 2016	N/A	N/A
cy Tolbert	Parent volunteer	SIVISS	July 1, 2016 –	IN/A	N/A
			June 30, 2017		
EASANTVILLE HIGH SO	HOOL				
ward Bonek	Assistant Principal	PHS	July 5, 2016 –	N/A	N/A
			August 31, 2016		
C :-	Assistant Dringing	DUC	I.J. E 0040	NI/A	NI/A
erry Spence-Leslie	Assistant Principal	PHS	July 5, 2016 –	N/A	N/A
			August 31, 2016		
hael Pilate	Coordinator of	PHS	July 5, 2016 –	N/A	N/A
	Guidance/ Testing/				
]		
neen McQueen	Social Worker	PHS	July 5, 2016 –	\$30.00 per hr.	15-422-100-100-0000-050
			, ,		
			3,		
ven Katzen	Substance Abuse	PHS	July 5, 2016 –		15-422-100-100-0000-050
	Counselor			not to exceed	
		1	3.51 5 1, 2010		
gelika Sims	Dean of Students	PHS	July 5, 2016 –		15-422-100-100-0000-050
	200 51 510001110	1			.3 .22 .00 .00 0000 000
genika Onnis	1	1	, lagact 01, 2010		
genia en 113				1 32 hrs (\$960)	
drea Spence	Instructional Aide	PHS	July 5, 2016 –	32 hrs. (\$960) \$30.00 per hr.	15-422-100-106-0000-050
ven Katzen	Guidance/ Testing/ Scheduling Social Worker	PHS PHS PHS	July 5, 2016 – August 31, 2016 July 5, 2016 – August 31, 2016 July 5, 2016 – August 31, 2016 July 5, 2016 – August 31, 2016	\$30.00 per hr. not to exceed 32 hrs. (\$960) \$30.00 per hr. not to exceed 32 hrs. (\$960) \$30.00 per hr. not to exceed	15-422-100-100-0000 15-422-100-100-0000

Name	Position	Location	Effective Date	Salary	Funding Source
				32 hrs. (\$960)	
Michelle Everett	Teacher	PHS	July 5, 2016 –	\$30.00 per hr.	15-422-100-100-0000-050
			August 31, 2016	not to exceed	
				32 hrs. (\$960)	

10. SCHOOL CLIMATE COMMITTEE:

Name	Position	Location	Effective Date	Salary	Funding Source
Felicia Hyman-Medley	Principal	SMSS	July 1, 2016 – June 30, 2017	N/A	N/A
Lapell Chapman	Assistant Principal	SMSS	July 1, 2016 – June 30, 2017	N/A	N/A
Jillian Butterhof	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Regina Callaghan	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Grace Connelly	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Maryanne DeBlasio	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Chelon Gray	Instructional Aide	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Beth Maisto	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Charlotte Manning	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Jennifer Martinez	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 32 hrs. (\$960)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Delnora Rowell	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Cynthia Stocks	Guidance Counselor	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)
Ericka Watson	Teacher	SMSS	July 1, 2016 – June 30, 2017	\$30 per hr. not to exceed 16 hrs. (\$480)	20-231-200-100-0000-545 (2015-2016 Title 1 SIP)

11. JROTC INSTRUCTORS:

Name	Position	Location	Effective Date	Salary	Funding Source
Ronald Tuczak	JROTC Instructor	PHS	July 5, 2016 –	\$8,551.00	15-401-100-101-0000-050
			August 31, 2016	(21 days at a per	
				diem rate not to	
				exceed \$407.19)	
Timothy Mack	JROTC	PHS	July 5, 2016 –	\$7,333.00	20-459-100-101-0000-547
	Instructor		August 31, 2016	(21 days at a per	(2016-2017 JROTC Grant)
				diem rate not to	
				exceed \$349.19)	

- **12. Resolution to approve** the Job Description and Job Title for the following positions: High School Guidance Counselor, Elementary School Guidance Counselor, Occupational Therapist, Psychologist, Social Worker, Speech-Language Specialist, Student Assistance Coordinator, and Director of Operations.
- 13. Resolution to approve Dale Sheridan, Technology Coordinator at the Pleasantville High School to receive a stipend for additional responsibilities due to a vacant position. Effective April 23, 2016 through June 30, 2016 Ms. Sheridan will assist with student attendance, Drop Out Prevention assignments and PARCC mandates. She will be paid \$30.00 per hour not to exceed 20 hours (\$600.00) utilizing account# 15-421-100-101-0000-050.
- **14. Resolution to approve** Turkessa Lee, Social Worker at the Middle School of Pleasantville to provide counseling service to students in the Middle School 3-7 Program. Ms. Lee will conduct counseling and psychosocial groups for one hour each day totaling five hours per week for the remainder of the school year. The counseling sessions will begin on May 18, 2016 through June 30, 2016 at a rate of \$45.00 per hour for one (1) hour per day not to exceed twenty (20) days \$900.00 utilizing account# 15-000-211-100-0000-055.
- **15. Resolution to approve** Robert Anderson, C.A.R.E. Instructional Aide to assist in the C.A.R.E. office effective May 18, 2016 August 31, 2016 at a rate of \$15.00 per hour not to exceed \$5,400.00 utilizing account # 11-000-251-105-0000-351 and 20-290-200-100-0000-545 (2015-2016 21st CCLC).
- **16. Resolution to approve** the Pleasantville Public School Human Resources Office to purchase HIB Manager software, myK12 from McCarvill, LLC. The module will cover up to 4,000 students effective July 1, 2016 June 30, 2017. The program will be used to computerize the HIB process improving the communication between staff, Board of Education and principals making the procedure more efficient. The total cost for the software is not to exceed \$3,579.88 utilizing account# 11-000-251-590-0000-236.
- 17. Resolution to approve the Pleasantville Public School Human Resources Office to purchase a web-based program from eFMLA, Inc. The program will be used to assist with administering and managing staff member's FMLA leave to ensure the district is in compliance with FMLA federal regulations. The total cost of the program is not to exceed \$1,295.00 utilizing account# 11-000-251-590-0000-236.
- **18. HIB**: The May 9, 2016 HIB Report was shared with the Board of Education on that date in executive session and will be acted upon on May 17, 2016 in executive session. The May 17, 2016 HIB report will be presented to the Board of Education during executive session for review.

19. PUBLIC MATTERS:

Resolution to affirm the Superintendent's actions on the HIB matters which were presented to the Board of Education in Executive Session on May 9, 2016:

INCIDENT#	DATE
PHS-22-16	1-8-16
PHS-23-16	1-29-16
PHS-24-16	1-21-16
L-16-16	1-15-16
MSP-8-16	2-11-16
PHS-25-16	2-8-16
NM-4-16	2-18-16
L-14-16	2-18-16
MSP-9-16	2-24-16
W-13-16	3-9-16

MOTION BY: SECOND BY:	Yea: Nay:
-----------------------	-----------

ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore, Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION POLICY AGENDA ITEMS

Board Workshop/Action Meeting Tuesday, May 17, 2016

POLICY:

1. Resolution to adopt the following Policy:

P 8310 Public Records (Technical Revision)

Background

The final paragraph (Record Retention) was added to meet the requirements of the New Jersey Department of Education.

MOTION BY: MOTION BY:	SECOND BY:	_Yea:	Nay:
ROLL CALL:			

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore, Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS Board Workshop Meeting Tuesday, May 17, 2016

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Cordivari Allison	LAS C&I	edConnect NJ District Consortium Trenton, NJ	05-31-16	\$ 43.57 Mileage	11-000-221-800-0000-234
Ceasar Sheila	ECC	NAEYC National Association Education Young Children Baltimore, MA	06-06-16 06-08-16	\$ 410.00 Registration \$ 20.00 Parking \$ 90.00 Food \$ 663.16 Lodging	20-218-200-580-0000-234
Ceasar Sheila	ECC	Visit a School District's Pre- K classroom: Meet EC Supervisors Long-branch, NJ	05-19-16	\$ 0.00	N/A
Chapman Constance	PHS	Creating a Balanced Literacy Block	05-17-16	\$ 0.00	N/A
Daniels-Green Desiree	WAS	Rutgers Southern Regional Child Care Training for ECC Providers, Linwood, NJ	05-12-16 Superintendent Approved 05-04-16	\$ 0.00	N/A
DeSanto Rene	MSP	End of Year AIR Artist in Residency Luncheon Presentation Monroe Township, NJ	05-25-16	\$ 0.00	N/A
Favre Christina	WAS	Google Educator Certified Boot Camp Galloway, NJ	06-02-16 06-03-16	\$ 350.00 Registration	15-000-240-500-0000-060
Hannigan John	Central Office	NJ Smart Woodstown, NJ	06-13-16	\$ 0.00	N/A
Jessica Howell	MSP	NJCTL cohort Physics with Algebra Program: Special Education Woodbury Heights, NJ	06-27-16 Through 07-28-16	\$ 2,340.00	11-000-221-320-0000-234

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Laster Jeffrey	MSP C&I	edConnect NJ District Consortium Trenton, NJ	05-31-16	\$ 43.57 Mileage	11-000-221-8500-0000-234
Lasure-Owens Tamar	LAS	36th. NJ Governor's Awards in Arts Education Trenton, NJ	05-26-16	\$ 0.00	N/A
Medina Kaisha	NMSS C&I	edConnect NJ District Consortium Trenton, NJ	05-31-16	\$ 0.00	N/A
Mitchell Stephen	Truancy	Drug Awareness & Abuse Identification Mays-Landing, NJ	05-18-16	\$ 0.00	N/A
Petrov Dimitar	PHS	NJCTL cohort Physics with Algebra Program: Special Education Woodbury Heights, NJ	06-27-16 Through 07-28-16	\$ 2,340.00	11-000-221-320-0000-234
Stuart-Smith Lisa	ECC	Workforce Innovation and Opportunity Act (WIOA) Title II Disability Awareness Training Sewell, NJ	05-26-16	\$ 30.90 Mileage	20-218-200-580-0000-234
Christine Teeney	MSP	Creating a Balanced Literacy Block	05-17-16	\$ 0.00	N/A
Thompson Oveta	WAS	Rutgers Southern Regional Child Care Training for ECC Providers, Linwood, NJ	05-12-16 Superintendent Approved 05-04-16	\$ 0.00	N/A
Trapp Cynthia	DAP	36th. NJ Governor's Awards in Arts Education Trenton, NJ	05-26-16	\$ 0.00	N/A
Williamson Victoria	SMSS Academic Coach	Blended Online Learning Modules to Support Learning Communities Summer Institute Gloucester County, NJ	06-04-16	\$ 0.00	N/A
Williamson Victoria	SMSS Academic Coach	Blended Online Learning Modules to Support Learning Communities Summer Institute Monroe Township, NJ	06-28-16 06-29-16	\$ 0.00	N/A

2. Activities

School/Program	Activity	Date	Cost	Account#	Time/Purpose
NMSS	Literacy	05-23-16	\$ 286.00		Students will be
WAS	Celebration				recognized for their
LAS					commitment to reading
NMSS	Literacy	05-23-16	\$ 125.70		Students will be
WAS	Celebration		,		recognized for their
LAS					commitment to reading
PEA	Staff BBQ	06-13-16	\$ 0.00	N/A	2:00pm-5:00pm
@ MSP			¥ 2.22		To celebrate "Staff
Grounds					members of The Year"
					and retirements for the
					2015-2016 school year
ECC	Mother's Day	05-06-16	\$ 300.00	Student Activity Account	1:45pm-2:30pm
200	Tea	Superintendent	Ψ 000.00	# 2080	Songs and Snacks to
	100	Approved		11 2000	celebrate mom's day
LAS	Tacabar Talant	05/05/16 06-15-16	¢ 0 00	NI/A	9:00am-10:00am
	Teacher Talent Show	00-15-10	\$ 0.00	N/A	9.00am-10.00am
Pre-K LAS	Student Talent	06-14-16	¢ 0 00	NI/A	9:00am-10:00am
	Show	00-14-16	\$ 0.00	N/A	9.00am-10:00am
Pre-K		00 45 40	ф 0 00	NI/A	10.00
MSP	8th. Grade	06-15-16	\$ 0.00	N/A	10:00am
	Promotional				Graduation ceremony
	Exercises				for MSP 8th. Grade
MOD	Oth Out of Assessed	00.40.40	Ф 700 00	Otrodont Assessed	students
MSP	8th. Grade Awards	06-10-16	\$ 720.00	Student Account	9:15am-11:00am
	Breakfast		Food	# 0555	Students and parents
					will be honored for
					academic and behavior
1405	PPOIO	05.00.40	* • • • •	N//A	throughout the year
MSP	PBSIS	05-20-16	\$ 0.00	N/A	4:30pm-7:30pm
	Spring Dance				Students will celebrate
					respect, responsibility
1405	501 0 III D	05.40.40	* • • • •	21/2	and safety.
MSP	ESL Spelling Bee	05-19-16	\$ 0.00	N/A	9:30am-11:00am
		Make-up date 05-20-16			
MSP	National Junior	06-01-16	\$ 722.15	Account	9:30am-11:00am
-	Honor Society		Invitations,	# 0555	
	Induction		Certificates		
	Ceremony		Certificate		
			covers &		
			Honor Cords		
MSP	Guest speaker	06-10-16	\$ 0.00	N/A	9:00am-11:00am
	from the Marine		Ţ 2.00		
	Mammal				
	Stranding Center				
	3.5				
MSP	7th. Grade end of	06-02-16	\$ 1,500.00	Student Activity Account	11:45am-3:15pm
	year celebration		, , , , , , , , , ,	#559	
	year celebration			#339	

School/Program	Activity	Date	Cost	Account#	Time/Purpose
			Inflatable Obstacle Course		
NMSS	Wizard of Oz Performance	05-26-16	\$ 300.00 Refreshments	Student Activity Account #539	6:00pm-8:00pm
NMSS	Field Day	05-27-16	\$ 0.00	N/A	9:00am-2:50pm
NMSS	4 th & 5 th Grade Dance	06-03-16	\$ 0.00 Refreshments	Student Activity Account #539	5:00pm-7:00pm
NMSS	Career Exploration McGettigna's	06-01-16	\$ 234.58 Lunch for gold students	Student Activity Account #539	9:00am-2:00pm Students will meet gold professionals
PHS JROTC	Lunch Field Trip to Ft. Dix	06-03-16	\$ 325.00 Lunch	JROTC Account # 42	TBD
PHS	Speaker on Obesity	05-11-16 Asst. Superintendent approved 04-27-16	\$ 0.00	N/A	9:00am-10:00am Dangers of obesity
PHS	National Honor Society Induction Ceremony	05-26-16	\$ 150.00	A-0022	5:00PM-7:00PM Induction of new Members into NHS and celebrate the accomplishments of seniors
SMSS	Awards Assembly	06-14-16	\$ 300.00	Student Activity Account # 0537	1:00pm-2:50pm
SMSS	Drama Club Finale with Sing-a-Long	06-02-16	\$ 0.00	N/A	3:30pm-5:00pm Drama Club Final performance
SMSS	Awards Assembly	06-14-16	\$ 300.00 Decorations Refreshments	Student activity Account # 0537	Recognize students for their academic performance
WAS	Make Your Own Salad Day	06-01-16	\$ 0.00	N/A	1:15pm-2:45pm
WAS	Fun Day	06-10-16	\$ 895.00 Pizza Bouncers Cotton Candy Snow Cones Popcorn	Student Activity Account #0536	1:30pm-3:00pm Fun activities for students
WAS	Parent Involvement Workshop	05-26-16	\$ 120.00 Refreshments	# 20-231-200-600-0010-545	9:30am-11:00am Parents are invited to meet and learn about the connection between Atlantic Care and schools

3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose
PHS	Mother's Day grams	05-02-16 Asst. Superintendent approved 04-27-16	05-06-16	Staff members will be able to purchase a Lollypop gram for their favorite teacher mom to raise funds for the school climate committee
MSP	AVID 21 Days of Health District Wide Challenge	05-18-16	06-07-16	Raise funds for AVID Activities
MSP	Chic-Fil-A Spirit Night Fundraiser	06-02-16	06-02-16	Raise funds for AVID Activities
MSP	Dress Down Day	06-10-16	06-10-16	Raise funds for the Marine Mammal Stranding Center
NMSS	Boscov's Friends Helping Friends Shopping Pass Sale	06-06-16	06-06-16	Raise Funds for Student Activities
NMSS	Community Line Dancing	05-18-16	07-31-16	6:00pm-8:00pm Every Tuesday, to raise funds for student activities

4. Field Trips:

School	Activity	Location	Date/Time	Cost	Account#
NMSS	Franks Movie Theaters	Northfield,	05-23-16	\$ 952.00	
LAS	Towns 16	NJ	9:15am-1:15am	Tickets	
WAS	96 Students				
MSP	16 Chaperones				
PHS					
ECC	Main Event	Pleasantville	06-07-16	\$ 131.25	DAC Student Activity
7 Classes	Ice-Cream Shop	NJ	12:00pm-1:15pm		Account
	105 Students				# 2080
	16 Teachers		Rain Date		
	15 Assistants		06-09-16		
ECC	Main Event	Pleasantville	06-8-16	\$ 150.00	DAC Student Activity
8 Classes	Ice-Cream Shop	NJ	12:00pm-1:15pm		Account
	120 Students				# 2080
	16 Teachers		Rain Date		
	15 Assistants		06-09-16		
LAS	Cape May County	Cape May,	06-03-16	\$ 180.00	Student Activity Account
Pre-Kindergarten	Park & Zoo	NJ	9:00am-1:30pm	Transportation	# 0540
	120 Students				
	18 Chaperones				
LAS	Cape May Park & Zoo	Cape May,	06-03-16	\$ 200.00	Student Activity Account
Kindergarten	120 Students	NJ	9:00am-1:30pm	Transportation	# 0540
	18 Chaperones		3 District Buses		
	·		No cost		
LAS	Stockton University	Galloway,	05-24-16	\$ 0.00	N/A
5 th . Grade	80 Students	NJ	8:45am-1:30pm		
	10 Chaperones		2 District Buses		

School	Activity	Location	Date/Time	Cost	Account#
LAS 3 rd . Grade	The Franklin Institute 85 Students 15 Chaperones	Philadelphia, PA	06-09-16 9:00am-4:00pm 2 District Buses	\$800.00 Registration \$1,850.00 Transportation \$472.00 Imax Tickets	15-190-100-800-0000-080
LAS Drama Club	PHS: Little Shop of Horrors 30 Students 3 Chaperones	PHS	04-22-16 Superintendent Approved 04-21-16	\$ 0.00	N/A
LAS Environmental Club	Avalon Beach 20 Students 3 Chaperones	Avalon, NJ	06-08-16 8:45am-2:00pm	\$ 0.00	N/A
LAS 5 th . Grade	Main Event Ice-Cream 90 Students 3 Chaperones	Pleasantville NJ	05-31-16 06-02-16 1:10pm-2:45pm	\$ 0.00	N/A
			Rain Dates 06-03-16 06-07-16		
MSP 6 th . Grade	Adventure Aquarium 225 Students 25 Chaperones	Camden, NJ	05-24-16 8:45am-1:30pm	\$ 3,050.00 Admission	Activity Account # 555
MSP 8 th . Grade Band	High Note Festivals 33 Students 2 Chaperones	Jackson, NJ	06-03-16	\$ 1,680.00 Registration \$ 50.00 Parking	Apple Farms covering all costs
NMSS 5 th . Grade	High School for District 5 th Grade Field Day. Sponsored by the Pleasantville Fire Department	PHS	06-02-16	\$ 0.00	N/A
PHS	Atlantic County Court One Court One Judge Program 30 students 2 chaperones	Mays Landing, NJ	05-06-16	\$ 0.00	N/A
PHS	Decatur Avenue Pre-k 30 Students 3 Chaperones	Pleasantville NJ	06-10-16	\$ 0.00	N/A
PHS	NYC Broadway Theater Performance of Wicked 24 Students 5 Chaperones	NYC	06-01-16 8:00am-8:00pm	\$ 0.00	All cost to be paid by Apple Farms There is no cost to the district
PHS	Boardwalk Hall Pipe Organ Tour 20 Students 2 Chaperones	AC, NJ	06-08-16 9:00am-1:30pm	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
WAS	Story Book Land	EHT, NJ	06-07-16	\$ 1,682.00	Title III
English	100 Students		9:00am-1:15pm	Tickets	20-241-100-800-0000-545
Language	16 Chaperones				
Academy					
WAS	Funplex Lanes	Mt. Laurel,	06-03-16	\$ 0.00	Trip previously approved
	38 Students	NJ			on 04/19/16: Date change
	10 Chaperones				to 06-03-16 only.
WAS	23rd. Annual Woman's	AC, NJ	06-09-16	\$ 0.00	N/A
	Forum Luncheon @		10:00am-2:30pm		
	Golden Nugget Casino				All Expenses paid for by
	12 Students				Donors Choice
	2 Chaperones				
WAS	Congo Falls Miniature	Ocean City,	05-20-16	\$ 0.00	N/A
4-5 th .	Golf	NJ	3:00pm-5:00pm		
Grade Golf Club	14 Students				
	2 Chaperones				
WAS	JoJo's	Pleasantville	05-19-16	\$ 0.00	N/A
4-5 th . Grade Golf	14 Students	NJ			All expenses paid for by
Club Banquet	2 Chaperones				AC Boys & Girls Club
WAS	King Pin Bowling	EHT, NJ	06-07-16	\$ 0.00	N/A
Bowling Club	Lanes		06-08-16		
	28 Students		2:50pm-5:00pm		
	1 Chaperone				

- 5. Be it Resolved, that the Pleasantville Board of Education approve Allison Cordivari, Kaisha Medina and Victoria Williamson to write the:
 - District Professional Development Plan District
 - District Title School Wide Plan
 - District Technology Plan
 - @ \$ 30.00 per hour not to exceed 10 hours, \$ 300.00 each. Utilizing account # 11-000-221-800-0000-234

Name	Position	Effective Date	Salary	Funding Source
Cordivari Allison	Academic Coach	May 17, 2016-June 15, 2016	\$ 30.00 per hour not to exceed 10 hours. \$ 300.00	11-000-221-800-0000-234
Medina Kaisha	Academic Coach	May 17, 2016-June 15, 2016	\$ 30.00 per hour not to exceed 10 hours. \$ 300.00	11-000-221-800-0000-234
Williamson Victoria	Academic Coach	May 17, 2016-June 15, 2016	\$ 30.00 per hour not to exceed 10 hours. \$ 300.00	11-000-221-800-0000-234

- 6. Be it Resolved, that the Pleasantville Board of Education approve to train C.A.R.E. staff regarding essential factors related to Harassment, Intimidation, and Bullying. Training will focus on specific areas including understanding HIB definitions, identifying HIB signs, distinguishing between normal conflict vs. HIB, knowing staff responsibilities and developing effective mediation/ conflict resolution skills. Teachers will receive training and Professional Development Sessions meant to increase their understanding of HIB and will receive effective strategies to use when addressing HIB concerns.
 - Name: C.A.R.E. Staff Harassment, Intimidation, and Bullying (HIB) Training Workshops

- **Position** Two one hour workshops provided to all CARE staff including Teachers, Instructors, Site Coordinators, Site Aides, and program aides (see attachment)
- Location: Middle School of Pleasantville
- Effective Daye: May-July, 2016
- Salary/Rate: per contractual rate (see attachment). Total training expenses not to exceed \$ 2,592.00
- Funding Source: #20-290-100-100-0000-545

Name	Position	Effective Date	Salary	Funding Source		
Allen	C.A.R.E.	May 25 [,] 2016-	3 Hours total x \$ 30 per hour=\$ 90	20-290-100-100-0000-545		
Kia	Teaching Staff	6:30-7:30pm	·			
		June 29, 2016				
		10am-12pm				
Bailey	C.A.R.E	May 25, 2016-	3 hours total x \$30. per hour =\$90	20-290-100-100-0000-545		
Sarah	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Brinkley-Ward	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Frances	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Dill-White,	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Yvonne	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Harper	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Bruce	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Manetta	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Joseph	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Medina	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Kaisha	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
		10am-12pm				
Monroe	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Wayne	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
	0.4.5.5	10am-12pm		20 200 400 400 2000 545		
Polhemus	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Jonathan	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
0 '''	0.4.0.5	10am-12pm		00 000 100 100 0000 515		
Smith,	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Christopher	Teaching Staff	6:30-7:30pm				
		June 29, 2016				
0 '''	0.4.0.5	10am-12pm		00 000 400 400 0000 = :=		
Smith	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545		
Nikki	Teaching Staff	6:30-7:30pm				

		June 29, 2016		
10/-1	CADE	10am-12pm	2 have tatal v 620 5 620	00 000 400 400 0000 545
Watson	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545
Ericka	Teaching Staff	6:30-7:30pm		
		June 29, 2016		
\A <i>t</i> '	0.4.0.5	10am-12pm		00 000 400 400 0000 545
Wisenbaker	C.A.R.E	May 25, 2016-	3 hours total x \$30 per hour =\$90	20-290-100-100-0000-545
Martha	Teaching Staff	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Anderson,	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Robert	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Barnes	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Bryan	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Benbow	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Anita	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Farmer	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Rhonda	Instructors	6:30-7:30pm	o nouro total x 420 por nour 470	20 200 100 100 0000 010
Talonda	moti dotoro	June 29, 2016		
		10am-12pm		
Hargis	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Marlon	Instructors	6:30-7:30pm	3 Hours total x \$25 per Hour =\$75	20-290-100-100-0000-343
IVIAITOIT	IIISHUCIOIS	June 29, 2016		
		10am-12pm		
Hicks	C.A.R.E		2 hours total v \$25 per hour -\$75	20-290-100-100-0000-545
		May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Curtis	Instructors	6:30-7:30pm		
		June 29, 2016		
1.301	0.4.0.5	10am-12pm	0 1 1 1 005 1 075	00 000 400 400 0000 545
Little	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Jason	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Mayssonett	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Barbara	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Moore	C.A.R.E	May 25, 2016-	3 hours total x \$25 per hour =\$75	20-290-100-100-0000-545
Crystal	Instructors	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
Barnes	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Quana	Coordinators	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		

Brown	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Tawanda	Coordinators	6:30-7:30pm	o noune total x v=0 poi noun voo	
		June 29, 2016		
		10am-12pm		
Jones	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Sheltrenia	Coordinators	6:30-7:30pm	, , , , , , , , , , , , , , , , , , , ,	
		June 29, 2016		
		10am-12pm		
Martin	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Tracey	Coordinators	6:30-7:30pm	γ	
,		June 29, 2016		
		10am-12pm		
McAllister	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Belinda	Coordinators	6:30-7:30pm		
		June 29, 2016		
		10am-12pm		
McCline	C.A.R.E Site	May 25, 2016-	3 hours total x \$20 per hour =\$60	20-290-100-100-0000-545
Chelsea	Coordinators	6:30-7:30pm	o modification at \$4.20 per modification \$4.00	
		June 29, 2016		
		10am-12pm		
Anderson	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Shakimah	Member Site	6:30-7:30pm	o notice total at \$10 per notice \$10	
	Coordinator	June 29, 2016		
	Aide	10am-12pm		
Cherry	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Rosaline	Member Site	6:30-7:30pm		
	Coordinator	June 29, 2016		
	Aide	10am-12pm		
Crump	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Marlene	Member Site	6:30-7:30pm		
(Substitute)	Coordinator	June 29, 2016		
,	Aide	10am-12pm		
Johnson	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Cynthia	Member Site	6:30-7:30pm		
,	Coordinator	June 29, 2016		
	Aide	10am-12pm		
Mack	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Sheronda	Member Site	6:30-7:30pm	•	
	Coordinator	June 29, 2016		
	Aide	10am-12pm		
Pettigrew	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Tia	Member Site	6:30-7:30pm		
	Coordinator	June 29, 2016		
	Aide	10am-12pm		
Salcedo	C.A.R.E Staff	May 25, 2016-	3 hours total x \$15 per hour =\$45	20-290-100-100-0000-545
Christina	Member Site	6:30-7:30pm		
-	Coordinator	June 29, 2016		
	Aide	10am-12pm		

Luna Jovan	C.A.R.E. Instructional Aide	May 25, 2016- 6:30-7:30pm June 29, 2016 10am-12pm	3 hours total x \$8 per hour =\$24	20-290-100-100-0000-545
Normil Marie	C.A.R.E. Instructional Aide	May 25, 2016- 6:30-7:30pm June 29, 2016 10am-12pm	3 hours total x \$8 per hour =\$24	20-290-100-100-0000-545
Vazquez Leeranie	C.A.R.E. Instructional Aide	May 25, 2016- 6:30-7:30pm June 29, 2016 10am-12pm	3 hours total x \$8 per hour =\$24	20-290-100-100-0000-545

- 7. Be it Resolved, that the Pleasantville Board of Education approve Mark Santanello and Cynthia Stocks to serve as presenters at two 21st Century C.A.R.E. Workshops in May and June, 2016. Staff will be trained regarding essential factors related to Harassment, Intimidation, and Bullying. Training will specifically focus on understanding HIB definitions, identifying signs of harassment, intimidation, and bullying, differentiating between normal conflict vs. HIB incidents, reviewing staff HIB responsibilities, and developing effective mediation/ conflict resolution skills. Teachers will receive training and Professional Development Sessions meant to increase their understanding of HIB and will receive effective strategies to use when addressing HIB concerns.
 - **NAME**: C.A.R.E. Staff Harassment, Intimidation, and Bullying (HIB) Training Workshops
 - **POSITION**: Workshop Presenters: Mark Santanello and Cynthia Stocks
 - **LOCATION**: Trainings will take place at Middle School of Pleasantville
 - **EFFECTIVE DATE**: Two Prep days; May-June, 2016: one workshop held on May 25, 2016 for one hour from 6:30-7:30 PM and one on June 29, 2016 from 10-12 AM
 - **SALARY / RATE**: 3.0 total hours of Preparation time for both workshops/ 3.0 hours serving as workshop presenter for 2 days; total 6 hours at a rate of \$30.00 per hour for a total of \$180.00 per presenter; total presenter fees not to exceed \$360.00
 - **FUNDING SOURCE**: 20-290-100-100-0000-545
- 8. Be it Resolved, that the Pleasantville Board of education approve The Southern Regional Institute and ETTC at Stockton University workshops for the 2016-2017 school year. All SRI & ETTC workshops are eligible to satisfy the NJDOE Professional Development "100 Hours" requirement. Total cost of \$ 10,663.25 utilizing account # 11-000-221-500-0000-234.
- 9. Be it Resolved, that the Pleasantville Board of Education approval to reapply for the continuation of the Carl D. Perkins Grant. The purpose of the grant is to increase the academic, career, and technical skills of secondary students who enroll in CTE courses. The Perkins grant is be used at the high school level to assist students in meeting high academic standards, integrating career technical instruction, and linking secondary education to post-graduation career exploration. This is an annual grant that will run from July, 2016-June, 2017.

- **Location**: Funded Programs initiative

- Effective Date: June 30, 2016

- Salary/Rate: N/A - Funding Source: N/A 10. Be it Resolved, that the Pleasantville Board of Education approve Dale Sheridan to serve as the coordinator of the Carl D. Perkins Grant. The purpose of the Perkins Grant is to increase the academic, career, and technical skills of secondary students who enroll in CTE courses. As the Perkins Grant Coordinator Ms. Sheridan will ensure that the high school program applies proper procedures to ensure the efficient operations of CTE programs being serviced through the grant component. She will use Perkins funds to purchase equipment for the CTE courses, monitor budgeting acquisitions, maintain inventories, work with the Perkins Advisory boards, and ensure the that sufficient professional development activities occur during the grant term.

The coordinator stipend is considered a grant administrative cost that is included as a 5% expenditure of the grant.

- **Location**: Funded Programs initiative

Effective Date: July 1, 2016-June 30, 2017
 Salary/Rate: Stipend not to exceed \$2,000
 Funding Source: 20-361-200-100-0000-545

11. Be it Resolved, that the Pleasantville Board of Education approval to apply for the Instructional Improvement System (IIS) FY16-17–Grant. The grant is a Title One program that is open to districts that previously participated in the Race to the Top Phase Three (RTTTs) grant program. As a participant in the RTTT Phase component, the Pleasantville School District would like to use grant funds to implement the EdConnect NJ IIS by enhancing and refining use of the system with increased data-points, by further aligning course content, and by providing continued professional development.

EdConnectNJ is a tool that supports data-driven education by integrating assessments, data management, instructional support resources and curriculum and planning. This IIS grant is being offered to encourage eligible EdConnectNJ districts and those preparing to begin implementation to continue to enhance and refine the system by incorporating further data points and to increase the NJAS-aligned content available to assist in assessment and instruction. Through grant offering, the New Jersey Department of Education hopes to reach its overarching goal of improving the use of data as a tool to improve instruction in all classrooms. Grant award amounts vary according to the size of the district and the scope of the proposed project.

Location: Office of Curriculum and Instruction
 Effective Date: May 1, 2016-June 30, 2017

Salary/Rate: N/AFunding Source: N/A

- 12. Be it Resolved, that the Pleasantville Board of Education approve Therapy Dogs (TDI) at North Main Street School during the summer to assist students with disabilities attending the Extended School Year (ESY) program to grow both socially and emotionally. TDI will assist students by teaching them companionship, emotional expression, promote verbal skills, and sensory issues. There is no cost to the District.
- 13. Be it Resolved, that the Pleasantville Board of Education approve the Pleasantville Recreation Center Summer Food Service Program to provide approximately 45 student breakfast and lunches daily (19 Day) for the Extended School Year (ESY).
- 14. Be it Resolved, that the Pleasantville Board of Education approve The Extended School Year (ESY) program for students with disabilities within the District. ESY services are provided per each student's individualized Education Program (IEP). The ESY program will operate for four weeks beginning Tuesday, July 5, 2016 through Thursday, August 4, 2016. ESY will be held every Monday through Thursday beginning July 5, 2016, each day from 8:30am-12:30pm. The location(s) of the ESY program will be within the district

at a school to be determined. Transportation will be provided per each student's IEP. Breakfast and lunch will be provided through the Pleasantville Recreation Center Summer Food Service Program 2016.

- 15. Be it Resolved, that the Pleasantville Board of Education approval to create a Multiple Disabled classroom/program for students in grades 3-5. The District currently has multiple disabled program for grades K-1 and grades 2-4. The continuation of the Multiple Disabled program will allow the District to continue to address the needs of students with multiple disabilities in the district and reduce the number of students that would otherwise be serviced through out of district programs.
- 16. Be it Resolved, that the Pleasantville Board of Education approve the following (2) Special Education teachers. Jessica Howell, MSP & Dimitar Petrov PHS to attend NJCTL cohort Physics and Algebra Program to begin training June 2016 through July 2016 at Gateway Regional High School, Woodbury Heights, NJ at a cost of \$ 2,340.00 each not to exceed \$ 4,680.00 utilizing account # 11-000-221-320-0000-234.
- **17. Be it Resolved, that the Pleasantville Board of Education approve** the Pleasantville High School Marching Band, Dancers, and JROTC to participate in the Pleasantville National Night Out on Tuesday, August 2, 2016 form 5:00pm-8:00pm. There is no cost to the district.
- 18. Be it Resolved, that the Pleasantville Board of Education approve Request for Board approval of identified staff to work as a committee at each school site towards the development of the Title One Schoolwide and/or School Improvement Plan for each building. Schoolwide/SIP plans are educational tools that focus on the needs of student populations in order to ensure that every student succeeds. Schoolwide/SIP plans evaluate school trends, analyze student and staff data, identify indicators of success, and apply research-based strategies in order to evaluate success in terms of increased achievement by students at greatest risk of failing to meet state standards.
 - Location: Schoolwide/ SIP Planning Committees will be held at the following School sites:

North Main Street School Washington Avenue School Leeds Avenue School Pleasantville High School South Main Street School Middle School of Pleasantville

- **Effective Date**: May 21, 2015-June 30, 2016
- Salary/Date: At each building, 6 staff members will be paid for 4 hours each at the rate of \$30.00 per hour with the total costs per building not to exceed \$720. Total costs for all building sites not to exceed \$4,320.
- Funding Source:

North Main Street School: 15-000-240-104-0000-085
Washington Avenue School: 15-000-240-104-0000-060
Leeds Avenue School: 15-000-240-104-0000-080
Pleasantville High School: 15-000-240-104-0000-055
South Main Street School: 15-000-240-104-0000-095
Middle School of Pleasantville: 15-000-240-104-0000-055

STAFF PARTICIPANTS PLANNING & DEVELOPMENT OF TITLE ONE SCHOOLWIDE/ SIP PLAN

Name	Position	Location	Effective Date	Salary	Funding Source

Brian	Teacher	NMSS	May 21, 2016-June	4 hours x \$30.00 per hour not	15-000-240-104-0000-085
Kavanagh			30, 2016 to exceed \$120.00		
Renee Alford	Teacher	NMSS	May 21, 2016-June 4 hours x \$30.00 per hour not to exceed \$120.00		15-000-240-104-0000-085
Michelle McCline	Teacher	NMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-085
Michelle Jacobs	Teacher	NMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-085
Michael Dare-Gentile	Teacher	NMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-085
John Toland	Teacher	NMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-085
Pastor Richard Younger	Community Representative	NMSS	May 21, 2016-June 30, 2016	N/A	N/A
Noel Maldonado	Parent	NMSS	May 21, 2016-June 30, 2016	N/A	N/A
Rene Gensamer	Teacher	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Sandy Solorzano	Secretary	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Marlene Barrera	Teacher	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Christina Favre	Teacher	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Mary Lou Breidenstine	Teacher	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Susana Faulhaber	Teacher	WAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-060
Eleanor Parker	Community Representative	WAS	May 21, 2016-June 30, 2016	N/A	N/A
Jasmine Rodriquez	Parent	WAS	May 21, 2016-June 30, 2016	N/A	N/A
Patricia Barnard	Teacher	LAS	May 21, 2016-June 30, 2016	·	

Marshella Cass	Teacher	LAS	May 21, 2016-June 4 hours x \$30.00 per hour not to exceed \$120.00		15-000-240-104-0000-080
Leo Hamlett	Teacher	LAS	May 21, 2016-June 4 hours x \$30.00 per hour not to exceed \$120.00		15-000-240-104-0000-080
Christina Gras	Teacher	LAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-080
Dawn Karpinski	Teacher	LAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-080
Syretta Primas	Teacher	LAS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-080
Melissa Andrews	Parent	LAS	May 21, 2016-June 30, 2016	N/A	N/A
Monique Brown	Parent	LAS	May 21, 2016-June 30, 2016	N/A	N/A
Pastor Younger	Community Representative	LAS	May 21, 2016-June 30, 2016	N/A	N/A
Alabarda, Terre	Teacher	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Butterhof, Jillian	Teacher	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Cunningham, Tatiana	Teacher	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Martinez, Jennifer	Teacher	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Stocks, Cynthia	Guidance	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Turner, Kelly	Teacher	SMSS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-095
Tolbert, Stacy	Parent Volunteer	SMSS	May 21, 2016-June 30, 2016	N/A	N/A
Ragland, Kevin (Pastor)	Community Volunteer	SMSS	May 21, 2016-June 30, 2016	N/A	N/A
Constance Chapman	Coach-for SIP Plan	PHS	May 21, 2016-June 4 hours x \$30.00 per hour not to exceed \$120.00		15-000-240-104-0000-050

Lindsey Marchesani	Teacher-for SIP Plan	PHS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-050
Deneen McQueen	Social Worker- for SIP Plan	PHS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-050
Novelette Brooks	Nurse-for SIP Plan	PHS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-050
Angelika Sims	Dean of Discipline-for SIP Plan	PHS	May 21, 2016-June 30, 2016	·	
Andrea Spence	Instructional Aide-for SIP Plan	PHS	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055
Darryl Ramsey	Coach-for SIP Plan	MSP	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055
Christina Teeney	Coach-for SIP Plan	MSP	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055
Frank Cambron	Drop Out Prevention Counselor-for SIP Plan	MSP	May 21, 2016-June 30, 2016		
Aaron Washington	Teacher-for SIP Plan	MSP	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055
Victoria Williamson	Coach-for SIP Plan	MSP	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055
Renee Gensamer	Coach-for SIP Plan	MSP	May 21, 2016-June 30, 2016	4 hours x \$30.00 per hour not to exceed \$120.00	15-000-240-104-0000-055

19. Be it Resolved, that the Pleasantville Board of Education approve the following home instruction students.

ID#	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	Туре	Grade	Funding Source
13262832 / 5579497254	6	6	\$45.00	\$ 270.00	Discipline	9	11-150-100-101-0000-400
12632836 / 2137321921	38	38	\$45.00	\$ 1,710.00	Medical	12	11-150-100-101-0000-400
3022523 / 2879386019	5	10	\$45.00	\$ 450.00	Discipline	7	11-219-100-101-0000-400
12914969 / 5726801272	6	12	\$45.00	\$ 540.00	Discipline	11	11-219-100-101-0000-400
13280042 / 3235587883	21	42	\$45.00	\$ 1,890.00	Discipline	11	11-219-100-101-0000-400
1880017 / 6895638331	4	8	\$45.00	\$ 360.00	Discipline	10	11-219-100-101-0000-400
3061703 / 5906498346	34	34	\$45.00	\$ 1,530.00	Medical	8	11-150-100-101-0000-400
1785134 / 8269303586	32	64	\$45.00	\$ 2,880.00	Discipline	11	11-219-100-101-0000-400
11231587 / 8403136682	34	34	\$45.00	\$ 1,530.00	Discipline	10	11-150-100-101-0000-400
13022548 / 3969470945	34	68	\$45.00	\$ 3,060.00	Medical	К	11-219-100-101-0000-400
3003008 / 7521098678	20	20	\$45.00	\$ 900.00	Medical	7	11-150-100-101-0000-400
3000260 / 3896776559	16	32	\$45.00	\$ 1,440.00	Medical - Extended	8	11-219-100-101-0000-400

3029903 / 376873185811	4 88	\$45.00	\$ 3,960.00	Medical - Extended	7	11-219-100-101-0000-400
---------------------------	------	---------	-------------	-----------------------	---	-------------------------

20. Be it Resolved, that the Pleasantville Board of Education approve Kindergarten Orientation Parent/Student Session at South Main Street School.

Name	Position	Location	Effective Date	Salary	Funding Source
Hyman-Medley Felicia	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Chapman Lapell	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Butterhof, Jillian	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Cunningham, Tatiana	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
DeBlasio, Maryanne	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Hennis, Jill	Inclusion Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Kurtz, Celina	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Prieto, Zelda	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Roller, Christine	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095
Vacant	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 12 hrs. \$360.00	15-401-100-100-0000-095

21. Be it Resolved, that the Pleasantville Board of Education approve 4th Grade Professional Development Training-(Departmentalizing)

Name	Position	Location	Effective Date	Salary	Funding Source
Hyman-Medley Felicia	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Chapman Lapell	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Williamson, Victoria	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Dill-White, Yvonne	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Gault, Lena	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Manning, Charlotte	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Martinez, Jennifer	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095

Sparks, Kimberly	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Toro, Christine	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095

22. Be *it* **Resolved,** *that the* **Pleasantville Board** *of* **Education** *approve* 5th Grade Professional Development Training-(Departmentalizing)

Name	Position	Location	Effective Date	Salary	Funding Source
Hyman-Medley Felicia	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Chapman Lapell	Administrator	SMSS	July 1, 2016 – August 30, 2016	N/A	N/A
Frazier, Raymond	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Kiefer, Michael	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Pinder, Rhonda	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Watson, Ericka	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Williamson, Victoria	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095
Vacant	Teacher	SMSS	July 1, 2016 – August 30, 2016	\$30.00 per hr. not to exceed 16 hrs. \$480.00	15-401-100-100-0000-095

- **23. Be it Resolved, that the Pleasantville Board of Education approve** the following novels for summer reading at the Middle School.
 - 6th. grade: Call it Courage by: Armstrong Sperry
 - 7th. grade: Cheaper by the Dozen by: Frank Gilbreth and Ernestine Gilbreth-Carey
 - 8th. grade: The Pigman by: Paul Zindel
 - Students in grade 6-8 will have letters sent home to be signed by a parent/guardian regarding the summer reading program. Students will be issued a book and an instructional packet prior to the end of the current school year. All materials will be completed by the students' summer and turned into their ELA teachers at MSP in the fall.
- 24. Be it Resolved, that the Pleasantville Board of Education approve the Pleasantville Board of Education approves the update to the Title 1 School Wide Plans (CAP), with an anticipated completion and submission of June 25th, 2016.

MOTION BY:	SECOND BY:	Yea:	Nay:	
------------	------------	------	------	--

ROLL CALL

Member	YES	NO	Abstain	Absent
James Barclay				
Bernice Couch				
Tony Davenport				
Silvia Ladrón				
Paul Moore				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion to go into Executive Sessio	Motion	on to ac	into	Executive	Sessio
------------------------------------	---------------	----------	------	-----------	--------

Motion by	Second by	
Executive Session Motion by	and Seconded by	at
p.m., it is hereby resolved that the Pleasa	antville Board of Education may go into closed or	r private session from which
subjects shall be discussed on this date MATTERS, PENDING, AND ANTICIPATE	e with the provisions as set forth in N.J.S.A. 10:4-12 e in the session of the Board closed to the pu ED LITIGATION. BE IT FURTHER RESOLVED this time or a future meeting of the Board when ms discussed.	blic: PERSONNEL, PUPIL that the discussion in closed

Roll Call:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion to come out of Executive Session

Motion by:	Second by:	Yea:	Nay:
J			· ,

Roll Call:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Reconvene Board Meeting

10. Motion to Adjourn the Meeting

Motion by:	Second by:	Yea:	Nay:

Dall	Cal	í.
RUI	ı Cai	١.

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Silvia Landron				
Paul Moore Jr.				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				